Efficiency vs P,

—0.2
o
go.18f
>~‘ -
20.16F
3
ok
S0.14
]

0.12F
%) S NR— IR —
0.08F -+ P Feeeeeeeeen e
0.0BF++++eveiveeeseeens Rt e
0.04F -+ P Feeeeeeeeen e

0.02F -+ --rerrmirer b
AF il el

o +WF : : :

T E

0 R
0.95F # --------------------------------------

=

o@
N

=

10 . Gedf’

—=— DQM_TT__ORIGINAL
—e— DQM_TT__MODIFIED_layerProcv2
—— DQM_TT__MODIFIED_layerProcv2_OctoberVersion

= 0.2
g
20.18
g u
§0.16F
(8] L
£0.14
3]
0.12F
0.1
0.08
0.06)
0.04
0.02

T[T T T [TTI[TT

Ratio




	Contents
	Page 1


